
 

LP/REC 800/600 Assembly Sheet 

 
 

 

LIST OF COMPONENTS: - 

 

 

REC800 REC600 

Top x 1 Top x 1 

Leg1 x 1 Leg1 x 1 

Leg2 x 1 (Red dot) Leg2 x 1 (Red dot) 

Leg3 x 1 (Green dot) Leg3 x 1 (Green dot) 

M6 Bolt x 8 M6 Bolt x 6 

M8 x 22 Hexagon Foot x 5 M8 x 22 Hexagon Foot x 5 

Minifix Cover x 12 Minifix Cover x 10 

Minifix Chipfast bolt x 4 Minifix Chipfast bolt x 4 

 

 

 

 

1.Screw M6 bolts into brass spreading dowels of top 

2.Screw M8 X 22 hex foot into threaded inserts on all legs 

3.Into leg 1 screw minifix chipfast bolts (2 on each face) 

4.Locate leg 2 + 3 onto minifix chipfast bolts on leg 1, ensuring all minifix cams 

   face same direction 

5.Locate all legs onto top and tighten all minifix cams 

 

 

 

 

 

 

 

 

 

 

 

 

 
Instruction Leaflet No 003 


